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1. Th@ for the reaction 2 N,Os(g) = 4 NO,(g) + O,(g) is reported in units of/s/'. What is the

overall or of the reaction?

2. The kinetics of the hydrolysis of methyl methanoate, CH;COOCHj3, in aqueous solution were investigated
by measuring the concentration of the ester after different time intervals. The reaction was found to be first
order in the concentration of the ester. Use the data below to determine the rate constant for the reaction.

time,t/ s 0 1800 3600 5400 7200 9000

conoentratign,
¢/moldm™  0.300 0.191 0.135 0.081 0.055 0.035

3. A substrate (S) is decomposed in the presence of an enzyme according to the Michaelis-Menten equation
with the following kinetic parameters: Km =10 g/, Vm =7 g/( L min)
If we operate a 2-liter batch reactor, what will be the time of the reaction for 95% conversion ? The

initial substrate concentration is 50 g/L .

Hint: The Michaelis-Menten reaction :

4. An aqueous feed containing reactant A ( 1 mol/L) enters a one liter plug flow reactor and reacts away
EER L

(2A— R, Rate é}CA2 L miy))
(2)Find what feed Tate((1L/miny will give an outlet concentration of C, %@ X

(b) Find what the outlef concentration of A (mol/L) for a feed rate of 05 L/mjx.
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